

Elliptic curves: parity phenomena

Vladimir Dokchitser

UCL

February 8, 2023

(Mostly a survey, with some joint work with L. Cowland Kellock.)

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$1 = \frac{1}{4^2}g(0),$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$1 = \frac{1}{4^2}g(0), \quad 2 = \frac{2^2}{7^2}f\left(\frac{7}{2}\right),$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$1 = \frac{1}{4^2}g(0), \quad 2 = \frac{2^2}{7^2}f\left(\frac{7}{2}\right), \quad 3 = \frac{4^2}{4669^2}f\left(\frac{403}{4}\right), \quad \dots$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$1 = \frac{1}{4^2}g(0), \quad 2 = \frac{2^2}{7^2}f\left(\frac{7}{2}\right), \quad 3 = \frac{4^2}{4669^2}f\left(\frac{403}{4}\right), \quad \dots \quad 15 = \frac{192^2}{367^2}g\left(\frac{61}{48}\right),$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned} 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\ -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), & & & \end{aligned}$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned} 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\ -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), & & & \\ -17 &= \end{aligned}$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned} 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\ -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), \\ -17 &= \frac{223280590408502625944275649356615800897^2}{6034892905593758120664851652128224164489^2} g\left(-\frac{330029825965445476649347569}{29773633899834719965546857}\right). \end{aligned}$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned} 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\ -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), \\ -17 &= \frac{223280590408502625944275649356615800897^2}{6034892905593758120664851652128224164489^2} g\left(-\frac{330029825965445476649347569}{29773633899834719965546857}\right). \end{aligned}$$

Conjecture

Every $n \in \mathbb{Z} \setminus \{0\}$ can be written as either $n = \square \cdot f(t)$ or $n = \square \cdot g(t)$ for some $t \in \mathbb{Q}$.

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned} 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\ -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), \\ -17 &= \frac{223280590408502625944275649356615800897^2}{6034892905593758120664851652128224164489^2} g\left(-\frac{330029825965445476649347569}{29773633899834719965546857}\right). \end{aligned}$$

Conjecture

Every $n \in \mathbb{Z} \setminus \{0\}$ can be written as either $n = \square \cdot f(t)$ or $n = \square \cdot g(t)$ for some $t \in \mathbb{Q}$.

Example: Consider $h(t) = t^3 - \frac{37}{3}t + \frac{1369}{108}$.

$$1 = \frac{8^2}{37^2} h\left(-\frac{37}{12}\right), \quad 2 = \frac{4^2}{37^2} h\left(\frac{37}{6}\right), \quad 3 = \frac{18^2}{37^2} h(0), \quad 4 = \frac{16^2}{37^2} h\left(-\frac{37}{12}\right), \quad 5 = \frac{8^2}{703^2} h\left(\frac{407}{12}\right), \dots$$

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned} 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\ -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), \\ -17 &= \frac{223280590408502625944275649356615800897^2}{6034892905593758120664851652128224164489^2} g\left(-\frac{330029825965445476649347569}{29773633899834719965546857}\right). \end{aligned}$$

Conjecture

Every $n \in \mathbb{Z} \setminus \{0\}$ can be written as either $n = \square \cdot f(t)$ or $n = \square \cdot g(t)$ for some $t \in \mathbb{Q}$.

Example: Consider $h(t) = t^3 - \frac{37}{3}t + \frac{1369}{108}$.

$$1 = \frac{8^2}{37^2} h\left(-\frac{37}{12}\right), \quad 2 = \frac{4^2}{37^2} h\left(\frac{37}{6}\right), \quad 3 = \frac{18^2}{37^2} h(0), \quad 4 = \frac{16^2}{37^2} h\left(-\frac{37}{12}\right), \quad 5 = \frac{8^2}{703^2} h\left(\frac{407}{12}\right), \dots$$

Conjecture

Every $n \in \mathbb{Z}_{>0}$ can be written as $n = \square \cdot h(t)$ for some $t \in \mathbb{Q}$.

Example: Consider $f(t) = 4t^3 - 32t - 35$ and $g(t) = 9t^3 + 16t + 16$.

$$\begin{aligned}
 1 &= \frac{1}{4^2} g(0), & 2 &= \frac{2^2}{7^2} f\left(\frac{7}{2}\right), & 3 &= \frac{4^2}{4669^2} f\left(\frac{403}{4}\right), & \dots & 15 &= \frac{192^2}{367^2} g\left(\frac{61}{48}\right), \\
 -1 &= \frac{1}{3^2} g(-1), & -2 &= 2^2 f\left(-\frac{3}{2}\right), & -3 &= 1^2 f(-2), \\
 -17 &= \frac{223280590408502625944275649356615800897^2}{6034892905593758120664851652128224164489^2} g\left(-\frac{330029825965445476649347569}{29773633899834719965546857}\right).
 \end{aligned}$$

Conjecture

Every $n \in \mathbb{Z} \setminus \{0\}$ can be written as either $n = \square \cdot f(t)$ or $n = \square \cdot g(t)$ for some $t \in \mathbb{Q}$.

Example: Consider $h(t) = t^3 - \frac{37}{3}t + \frac{1369}{108}$.

$$1 = \frac{8^2}{37^2} h\left(-\frac{37}{12}\right), \quad 2 = \frac{4^2}{37^2} h\left(\frac{37}{6}\right), \quad 3 = \frac{18^2}{37^2} h(0), \quad 4 = \frac{16^2}{37^2} h\left(-\frac{37}{12}\right), \quad 5 = \frac{8^2}{703^2} h\left(\frac{407}{12}\right), \dots$$

Conjecture

Every $n \in \mathbb{Z}_{>0}$ can be written as $n = \square \cdot h(t)$ for some $t \in \mathbb{Q}$.

All $n \in \mathbb{Z}[i] \setminus \{0\}$ can be written as $n = s^2 k(t)$ for some $s, t \in \mathbb{Q}(i)$, where $k(t) = t^3 - \frac{3}{4}t^2 - 2t - 1$.

$$E : y^2 + y = x^3 + x^2 + x$$

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2}^2 - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2}^2 + \sqrt[3]{2} + 5,$$

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2}^2 - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2}^2 + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3}^2 + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3}^2 - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2^2} - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2^2} + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3^2} + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3^2} - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5^2} - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5^2} + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2}^2 - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2}^2 + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3}^2 + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3}^2 - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5}^2 - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5}^2 + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

Conjecture

For every non-cube $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 + x^2 + x$ in $\mathbb{Q}(\sqrt[3]{m})$.

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2^2} - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2^2} + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3^2} + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3^2} - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5^2} - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5^2} + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

Conjecture

For every non-cube $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 + x^2 + x$ in $\mathbb{Q}(\sqrt[3]{m})$.

For every non-7th-power $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 - x^2$ in $\mathbb{Q}(\sqrt[7]{m})$.

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2^2} - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2^2} + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3^2} + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3^2} - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5^2} - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5^2} + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

Conjecture

For every non-cube $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 + x^2 + x$ in $\mathbb{Q}(\sqrt[3]{m})$.

For every non-7th-power $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 - x^2$ in $\mathbb{Q}(\sqrt[7]{m})$.

Conjecture

For all $A, B \in \mathbb{Z}$ with $A \equiv B \pmod{2}$, $y^2 = x^3 + Ax + B$

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2^2} - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2^2} + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3^2} + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3^2} - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5^2} - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5^2} + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

Conjecture

For every non-cube $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 + x^2 + x$ in $\mathbb{Q}(\sqrt[3]{m})$.

For every non-7th-power $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 - x^2$ in $\mathbb{Q}(\sqrt[7]{m})$.

Conjecture

For all $A, B \in \mathbb{Z}$ with $A \equiv B \pmod{2}$, $y^2 = x^3 + Ax + B$ has infinitely many solutions over $\mathbb{Q}(\zeta_8)$.

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2^2} - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2^2} + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3^2} + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3^2} - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5^2} - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5^2} + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

Conjecture

For every non-cube $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 + x^2 + x$ in $\mathbb{Q}(\sqrt[3]{m})$.

For every non-7th-power $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 - x^2$ in $\mathbb{Q}(\sqrt[7]{m})$.

Conjecture

For all $A, B \in \mathbb{Z}$ with $A \equiv B \pmod{2}$, $y^2 = x^3 + Ax + B$ has infinitely many solutions over $\mathbb{Q}(\zeta_8)$.

Conjecture

$$y^2 + y = x^3 - x$$

$K(\sqrt{\Delta_K})$, provided $\sqrt{\Delta_K} \notin K$ and $37 \nmid \Delta_K$.

$$E : y^2 + y = x^3 + x^2 + x$$

$$x = 2\sqrt[3]{2^2} - \sqrt[3]{2}$$

$$y = -2\sqrt[3]{2^2} + \sqrt[3]{2} + 5,$$

$$x = \frac{13}{25}\sqrt[3]{3^2} + \frac{6}{25}\sqrt[3]{3} - \frac{3}{25}$$

$$y = -\frac{52}{125}\sqrt[3]{3^2} - \frac{24}{125}\sqrt[3]{3} - \frac{213}{125},$$

$$x = \frac{82}{529}\sqrt[3]{5^2} - \frac{144}{529}\sqrt[3]{5} - \frac{160}{529}$$

$$y = -\frac{574}{12167}\sqrt[3]{5^2} + \frac{1008}{12167}\sqrt[3]{5} - \frac{6815}{12167} \dots$$

Conjecture

For every non-cube $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 + x^2 + x$ in $\mathbb{Q}(\sqrt[3]{m})$.
 For every non-7th-power $m \in \mathbb{Z}$, there are infinitely many solutions to $y^2 + y = x^3 - x^2$ in $\mathbb{Q}(\sqrt[7]{m})$.

Conjecture

For all $A, B \in \mathbb{Z}$ with $A \equiv B \pmod{2}$, $y^2 = x^3 + Ax + B$ has infinitely many solutions over $\mathbb{Q}(\zeta_8)$.

Conjecture

$y^2 + y = x^3 - x$ acquires new solutions over $K(\sqrt{\Delta_K})$, provided $\sqrt{\Delta_K} \notin K$ and $37 \nmid \Delta_K$.

Example: CM curves

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \longrightarrow (i + 1, 2i)$.

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \longrightarrow (i + 1, 2i)$.

$E(K)$ is a $\mathbb{Z}[i]$ -module whenever $i \in K$.

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \longrightarrow (i + 1, 2i)$.

$E(K)$ is a $\mathbb{Z}[i]$ -module whenever $i \in K$.

So $\text{rk} E/K$ is even over all number fields that contain i .

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \rightarrow (i + 1, 2i)$.

$E(K)$ is a $\mathbb{Z}[i]$ -module whenever $i \in K$.

So $\text{rk} E/K$ is even over all number fields that contain i .

Conjecture

$y^2 = x^3 + x^2 - 12x - \frac{67}{4}$ has even rank over every number field containing $\sqrt[4]{-37}$.

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \rightarrow (i + 1, 2i)$.

$E(K)$ is a $\mathbb{Z}[i]$ -module whenever $i \in K$.

So $\text{rk}E/K$ is even over all number fields that contain i .

Conjecture

$y^2 = x^3 + x^2 - 12x - \frac{67}{4}$ has even rank over every number field containing $\sqrt[4]{-37}$.

Conjecture

Every elliptic curve over \mathbb{Q} has even rank over $\mathbb{Q}(\sqrt{-3}, \sqrt{13})$.

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \rightarrow (i + 1, 2i)$.

$E(K)$ is a $\mathbb{Z}[i]$ -module whenever $i \in K$.

So $\text{rk} E/K$ is even over all number fields that contain i .

Conjecture

$y^2 = x^3 + x^2 - 12x - \frac{67}{4}$ has even rank over every number field containing $\sqrt[4]{-37}$.

Conjecture

Every elliptic curve over \mathbb{Q} has even rank over $\mathbb{Q}(\sqrt{-3}, \sqrt{13})$.

Conjecture

Fix K/\mathbb{Q} Galois with Galois group $D_{2q} \times D_{2r} \times D_{2s} \times D_{2t}$ for distinct primes $q, r, s, t \geq 5$.

Example: CM curves

Consider $E : y^2 = x^3 - 2x$ over $\mathbb{Q}(i)$.

$\times i : (-i - 1, 2) \rightarrow (i + 1, 2i)$.

$E(K)$ is a $\mathbb{Z}[i]$ -module whenever $i \in K$.

So $\text{rk} E/K$ is even over all number fields that contain i .

Conjecture

$y^2 = x^3 + x^2 - 12x - \frac{67}{4}$ has even rank over every number field containing $\sqrt[4]{-37}$.

Conjecture

Every elliptic curve over \mathbb{Q} has even rank over $\mathbb{Q}(\sqrt{-3}, \sqrt{13})$.

Conjecture

Fix K/\mathbb{Q} Galois with Galois group $D_{2q} \times D_{2r} \times D_{2s} \times D_{2t}$ for distinct primes $q, r, s, t \geq 5$. For all E/\mathbb{Q} , each 16-dim. irred. representation of $\text{Gal}(K/\mathbb{Q})$ has even multiplicity in $E(K) \otimes_{\mathbb{Z}} \mathbb{C}$.

Conjecture

$$E : y^2 + y = x^3 - x$$

Galois F/\mathbb{Q} with $\text{Gal}(F/\mathbb{Q}) \simeq A_5$ and $37 \nmid \Delta_F$.

Conjecture

$E : y^2 + y = x^3 - x$ has rank at least 12 over every Galois F/\mathbb{Q} with $\text{Gal}(F/\mathbb{Q}) \simeq A_5$ and $37 \nmid \Delta_F$.

Conjecture

$E : y^2 + y = x^3 - x$ has rank at least 12 over every Galois F/\mathbb{Q} with $\text{Gal}(F/\mathbb{Q}) \simeq A_5$ and $37 \nmid \Delta_F$.

Notation

$W_G =$ direct sum of the selfdual odd-dimensional irreducible representations of a group G .

Conjecture

$E : y^2 + y = x^3 - x$ has rank at least 12 over every Galois F/\mathbb{Q} with $\text{Gal}(F/\mathbb{Q}) \simeq A_5$ and $37 \nmid \Delta_F$.

Notation

$W_G =$ direct sum of the selfdual odd-dimensional irreducible representations of a group G .

Conjecture

For E/\mathbb{Q} of odd rank and F/\mathbb{Q} Galois with no quadratic subfields and $(\Delta_E, \Delta_F) = 1$, $E(F) \otimes_{\mathbb{Z}} \mathbb{C}$ contains $W_{\text{Gal}(F/\mathbb{Q})}$.

Conjecture

$E : y^2 + y = x^3 - x$ has rank at least 12 over every Galois F/\mathbb{Q} with $\text{Gal}(F/\mathbb{Q}) \simeq A_5$ and $37 \nmid \Delta_F$.

Notation

$W_G =$ direct sum of the selfdual odd-dimensional irreducible representations of a group G .

Conjecture

For E/\mathbb{Q} of odd rank and F/\mathbb{Q} Galois with no quadratic subfields and $(\Delta_E, \Delta_F) = 1$, $E(F) \otimes_{\mathbb{Z}} \mathbb{C}$ contains $W_{\text{Gal}(F/\mathbb{Q})}$.

Conjecture

If F/\mathbb{Q} Galois with no quadratic subfields, then for 100% elliptic curves E/\mathbb{Q} with $(\Delta_E, \Delta_F) = 1$, $E(F) \otimes_{\mathbb{Z}} \mathbb{C}$ is either $W_{\text{Gal}(F/\mathbb{Q})}$ or 0.

Thank you!